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Write out fully in words - a 20060 b 702005

Write these numbers using digits -
a twenty thousand eight hundred and thirty b sixty five thousand and four.

Rearrange the numbers given below in order, starting with the smallest :-
29028 29208 30002 28982 30010 28899.

@ What numbers are represented by A, B, C and D on the given scales

b What is the reading on this thermometer 2

20 0

What number lies halfway between -

a 2900 and 3100 b 68000 and 74000 2

Do the following mentally i~
a 69+22 b 257449 ¢ 320044500 d B81-17

. 2000-380 f 20000-17300 g 9999+12400 h 9000 - 13.

Try this question mentally i~
James empties his right pocket and finds he has 68p.

He looks in s left pocket and discovers an extra 9p-
He goes info a shop and spends 23p on a sweet.

On the way home he finds a 50p coin on the ground.
How much does James now have alfogether 2

Set down the following and calculate =

a 5263
+1638

c 6809 +574 d 20000 - 15482.

Round to the nearest 10~ b 584 c 3997.

. Round to the nearest 100 b 6953 c 56850.

. Round to 1 figure accuracy and find an approximate answer fo each of the following :-
a 93+79 b 821-1% ¢ 682042239 d 34200 -19040.
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b oy 5B had been discovered altogether by 2000

b A van driver makes a round frip of 243 km each day.
How far does he drive working Monday to Saturday

¢ The combined weekly earnings of 5 office workers is £2085.

If they get paid equally, how much does each earn >

Brian's hot tub holds 2615 litres. Davy's holds 1862 litres.

N
How much more does Brian's hot tub hold than Davy's >

% :
e Asmall bag of cement weighs 23 kg. A truck is loaded with 100 bags.

If the empty truck wei
ighs 215 kg, what is thy i
thetruck and the bags of cement > g e %

16. Do the folloping :-
a 203x4x7

b 1890:7+:5.

17,
Put the conpect Sign (s, -, x.

in :
© V@ p into the calculations to make the statements correct =

91 =
Osi:0 . p@B-25 ¢ 63087
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